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CAO8A

TALENT SEARCH EXAM

| INSTRUCTIONS |

1. Immediately fill in the particulars on this page of the Test Booklet with
Blue/Black Ball Point Pen. Use of pencil is strictly prohibited.

2. Test duration is ONE HOUR(60MINUTES)

3. The Test Booklet consists of 40 questions of 4 marks each. The
maximum marks are 160.

4. There are four sections in the question paper.
The distribution of question, subject wise in each part is mentioned

below.

SCIENCE — 10 Questions
SOCIAL SCIENCE —10 Questions
MATHEMATICS — 10 Questions
MENTAL ABILITY — 10 Questions

5. Candidates will be awarded Four marks (+4) each for indicated correct
response of each Question& One mark (-1) deduct for indicated
incorrect response. No deduction from the total score will be made if
no response is indicated.

6. No candidate is allowed to carry any textual material, printed or
written, bits of papers, mobile phone, any electronic device etc.

7. After the completion of the test, the candidate must hand over the
Answer Sheet to the Invigilator on duty in the Room/Hall. However, the
candidates are allowed to take away this Test Booklet with them.

8. Do not fold or make any stray marks on the Answer sheet.
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SCIENCE
Sliding friction is than static friction.
(a) Less (b) More
(c) Equal (d) None of these.
Tl eefor Qs Tor gl
(P) BH (@) 3fIh
() S @) STH Y DIS Tl
Force has magnitude as well as-
(a) Direction (b) Length
(c) Magnitude (d) None of these.
S & U URHATOT 3 TIY-I1 T 51l -
WREEI @) STH Y DIS Tl
The pressure exerted by air is known as-
(a) Thrust (b) Atmospheric pressure
(c) Gravity (d) None of these.
g GRT T 7Y &7 1 1 H&el 8-
(@) UuiiG (@) argHsTd g
() BT (@) STH Y DIS Tl
What is artificial silk?
(a) Rayon (b) Rubber
(c) Seat belt (d) Sleeping bags
PRI IR ?
@) = (@) TR
@M Hedee @) DT
Which of the following can be beaten into thin sheets:
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39. PROBLEM FIGURES

A[ZX[O] ?

A B G D
ANSWER FIGURES
(@) (b) (© (d)

Direction: Which is embedded in one of the answer figure.

T SR PRI AT AR

40, [><] o @ >

X) (@) (b) (© (d)

CATSE 2024
(a) Zinc (b) Phosphorous
(c) Sulphur (d) Oxygen

T ¥ 58 gaeht 9t & dier o1 9dar g2

(&) ST @) BRBRY
()i () IR

Least polluting fuel for vehicle is:

(a) CNG (b) Coal

(c) Petroleum (d) Natural Gas

e & o T HH TgHUT e ATl S8 6 :
(@) el (@) B
WREIREL (&) pferes T

NPK in soil stand for

(a) Nitrogen, Phosphorus, pH

(b) Nitrogen, Phosphorus, Potassium
(c) Nitrogen, Potassium, Calcium

(d) None of these.

gt 7 NPk BT 31l B

(@) ATEcIoM, BRBRY, pH

@) AAgere, BIpRY, MRy
@) STHIADE T

Lactobacillus forms
(a) Milk (b) Curd
(c) Vinegar (d) Soya souse.

NESCIRNEEEIRIN
@) Y (@) <&l
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@M RRe1 @) JaTgy|
9. White material of egg is-
(a) Yolk (b) Albuminin
(c) Fat (d) Albumin.
312 BT T UaTd 3
(@) wief () TesgA
() I (|) TesgfAe|
10. Deficiency of which hormone causes ‘goitre’ disease
(a) Thyroid (b) Thyroxin
(c) Parthyroxin (d) Adrenaline.
g g Y et & ey AT TR
(@) URRTZS (&) YRR
() TR () TS|
SOCIAL SCIENCE
11. What is cultivation of grapes called?
(a) sericulture (b) viticulture
(c) pisciculture (d) none of these
TR P W D) T HET I 82
() heR @) fadftper
@) R der @) STH Y DIS ol
12. Type of farming to meet family needs is known as:

(a) subsistence farming
(b) intensive farming
(c) shifting cultivation
(d) none of these
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()4 (b) 5
)6 (d) 7

Direction: (38): In each of the following questions, you are given a
combination of alphabets and/or numbers followed by four
alternatives (a), (b), (c) and (d). Choose the alternatives which most
closely resembles the mirror-image of the given combination.

A (38): FufoiRad U e o, 3! quiarar 3iR/ar et &1
TS Ao fear man g forass a1 IR e (a), (b), (0) 3R (d) BT
M| 3 {3t o1 gu ST S feu 71T TaieH & gUur-sfa 3
e 34 firea-Seia B

NATIONAL

@ TVNOILVN o JAVOITAY
@ IANOITA 0 LANOITAV

Direction (39) : There is some relationship between the first and the
second figures of the problem figures set. If these is similer relationship
between the third and fourth figures of the same set, select the correct
figure from the set of answer figures for questions mark (?)

e (39): Fuffka us foslf & Ugdl SR R o & Fu oo WeU Bl
IS A JHM THE & AR 3R DY 3 & o 0 Gay g, df vy
g (7) & forw IR ol & e A wet e fa g
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35.

36.

37.

(c) 35 (d) 45

If REASON is coded as 5 and BELIEVED as 7, what is the code number
for GOVERNMENT?

Tf& REASON @ 5 3R BELIEVE &1 7 & &0 | Feds (b SIrar g, at

GOVERNMENT 3T e ST 1 82
(a) 6 (b)8
©9 (d) 10

Direction (Q36) Find out which of the figure (a), (b), (c), (d) can
complete the pattern given in figure (X).

=1 (Q36) TABIA & 3MH (a), (b), (c), (d) H AP w1 |t (x) A
fu e e ) T IR IHdT 82

X) (@) (b) (© (d)

Find the number of triangles in the given figure.

G 77E afrepfal | Brayoll 1 J& Frd BT
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URAR B SRRl Bl GRT R & o8 Wl b YR &l fhg &g &
ST STl 82

@) Frafg Y @ PN
(@) e @) T AP T
Battle of Plassey took place in the year

(a) 1757 (b) 1789

(c) 1760 (d) none of these
WRY 1 g forg I o gaim um?

(P) 1757 (M) 1789

@0 1760 (@) STH A P1S a1

Who was the first person to discover a trading route to India.
(a) Vasco da Gama

(b) James Cook

(c) Columbus

(d) Thomas Cook

YR & forT TmaTies AW &) Wil A Tl Ugal i i UT?
@) AP SITET (@) TP

(WEISER! (@) 4TI b

When was Indian Constitution came into force
(a) 1950 (b) 1949

(c) 1945 (d) 1946

YR AT el TR g3HT 1?2

(h) 1950 (H) 1949

(1) 1945 (d) 1946

Who is known as the’ father of Indian constitution?
(a) MahatamaGandhi  (b) Rajendra Prasad
(c) Dr BR Ambedkar  (d) Pandit Jawaharlal Nehru
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17.

18.

19.

20.

YR Ty & frar & =u o for ST 1 82
(cP) FRTHT el COREEERIH
() ST dt 3R SidsHY  (¥) UfSd SareRard g

How many organs are there of the Indian government?

YR IRBR P fba [T g2
(@) 2 (b) 3
(c)4 (d)y7

The Champaran movement was started by
(a) indigo planters (b) raja and nawabs
(c) peasants (d) soldiers

YURY SHigIeH fhdd gRT Y= fobam T U
@) NA I A AR () ol 3R a1

@ fram @) s

Which of the following is the most important natural resource?
(a) Land (b) water

(c) Air (d) all of these

frofafad & 4 o a1 ved Teayul Ieias dureE g2
(@) Y (®) A
(m arg (@) Tt

In which of the following, which of the following continents is Tanzania
situated?

(a) Europe (b) Asia

(c) Africa (d) South Africa
fraferad 79 frem, donfaar Herdia fRud 22
(@) TR (@) T

@T) 3MPIBT () GI&oT S{ThihT
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e (032): Fafifad Ude gy &, T quinme/sid @l 1S §
o Uep a1 31fh UG @i 3 | 9% We! ey g ol §HM U &l
SR TR SR Y TS g & Uy forg &1 ufaafid s

B,D,FILP,?

@R (b) S

©T (d)yu

If + mean =, = means—, — means X, then 12 +6 +~3 — 2 x 8 =?

e + B3 — +~ BraRfg—, — B S < g, dl

12 +6+3—- 2x8=?

(@) -2 (b) 2
() 4 (d)8

Direction(Q34): In each of the following questions, a set of figures
carrying certain characters, is given. Assuming that the characters in
each set follow a similar pattern, find the missing character in each
case.

fder (Qa4): Fuffed Td® vy & o aull arclt srpfadl 17w
g fean T | we A gu b ude e H quf ue gHF de ot

Ui HRd ], U JTHA & Ardl IR @it |

Pt a

() 21 (b) 25
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30.

31.

The given figure ABCD is a trapezium in which 24 = (x + 25)°, 2B =
y°,4C =95° and 2D = (2x + 5)°:

3 71E 3P ABCD Uh JHTS Tqfel 8 o 24 = (x +25)°, 2B =
y°, £C = 95° 3R 4D = (2x+5)°:?‘ﬁx3ﬁ'\’yﬁqﬂﬁ1ﬁm

éﬁ C
x 95°
s
q’x
9@0 yo
A B

MENTAL ABILITY

(@) x =40°y =90°
(b) x = 45°,y = 85°
(c)x =50°,y =85°
(d)x =92°,y = 60°

Directions (Q.31): (In each of the following questions, a number series
is given with one term missing. Choose the correct alternative that will
continue the same pattern and replace the question mark in the given
series.

e (@31): Fafifed ude uy o ue T sRaar <l e § o
TP U I ¢ | 98 Te! fashed ge ot guM U &t okt a7 3R

&1 sjman o vy g 1 ufoefra |
4,7,12,19, 28, ....7

(@) 30 (b) 36

(©) 39 (d) 49

Directions (Q32): In each of the following questions, a
alphabet/numeral series is given with one or more term missing.
Choose the correct alternative that will continue the same pattern and
replace the question mark in the given series.
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MATHEMATICS

What must be added to the sum of 4x2 + 3x — 7 and 3x? + 6x + 5 to
get:1?

(@) 7x? +9x — 3
() 7x?+9x—2

(b) 3—9x — 7x?%
(d) none of these

4x?® + 3x — 7 3R 3x2 + 6x + 5 P TN H T SST ST AMRT b 1
I 81 2

(P) 7x? +9x — 3
(M 7x2+9x -2

(&) 3 —9x — 7«

(®) 3T AT el

If 50 is subtracted from two-third of a number, the result is equal to
sum of 40 and one-fourth of that number. What is the number?

e foreht T & <1-fagTs & A 50 U/ SIdT 8, o UiRumH 40 3R 39
TSN P Uh-AUTS D AN P SRISR BIdT 8 | I8 TS T 82

(a) 174 (b) 216

(c) 246 (d) 336

The value of |10+ \/25 + \/108 ++/154 + /225 is:

10+\/25+\/108 + /154 + 225 B YA B

(@) 4 (b) 6
©8 (d) 10
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24.

Which number can replace both the question marks in the equation

@1 (b) 7
()7 z (d) none

P ¥ e wfenRon 8 s g o R R T 8 = 2

25.

26.

217.

()1 (@) 7
Mm7; () BIg T
_B+1 V5-1 a?+ab+b?)\ .
If =5 and b = NFEL the value of ( 2—ab+b2) is-
3R \/_+1 V5-1 a?+ab+b?
3ﬁ_{b VE+1 ?:n.(az ab+b2)$”3§q%-
3 4
@ (b) 5
3 5
©; @3

The largest four-digit number which is a perfect cube, is-

(a) 8000 (b) 9261

(c) 9999 (d) none of these

IR 3P| B! GIY TSI TR o U guf = 8-
(@) 8000 () 9261

(TT) 9999 () STH Y B1S T

Nisha gets 10% more than sudha, then sudha gets:
(a) 93 % less than Nisha
(b) 10% more than Nisha
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(c) 9% less than Nisha
(d) 10% less than Nisha

=1 Y G T 10% SR UTe BT 8, T GT &1 T T BT 82
9% FRTa 5 Q) 10% =1 & sarar
@ 9% A d ®H @) 10% MY &H

A buys car Rs.100,000 and sell it to B at a profit of 10%, B sells it back to
A at a loss of 10%. Then in the deal.

(a) Aloses Rs.1000

(b) A makes Rs.110000

(c) A makes Rs. 11000

(d) A neither loses nor gains

A 100,000 ¥TT B R TIGAT & 3R U B B 10% b ATH TR Sl &,
B Y 10% B 8 IR A B Igg s g | fobr Tie ||

() A ST 1000 FUT B BT BT 8

(@) A 110000 TYY FTT 8

() Teh 11000 ¥ HHTAT &

(@) TP BT A G BN ¢ AR AT A BN ©

A number is randomly chosen from the set {1, 2,3, ... 10}. The
probability that the number is even is:

T WA P! Al U YIS 1, 2, 3,... A AT AT 8| T H TH
B B RGATE:

(@) 1/3 (b) 1/2

(©) 2/3 (d)Ya
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